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: okl Statistics
(Business Reseqrch Methods)

Time : 2:45 Hours] [Max. Marks: 70

mstructions : (1) The figures on right hap side indicate the marks.

(2) Use of Calculator is allowed

(3)  Values of statistical tab|eg 4re given in questions.

1. (i) Whatis Research ? Explain its types in detail. 7
(ii) Explain Basic Principles of Experimental Research designs in detail. 7
OR

(i) “Research is a systematic secientific process”. Explain with respect to steps of

Research process. 7
(i) Explain the eriteria of evaluation of Research Study. 7
2. ()= Define Questionnaire. Explain its types in detail. 7

(i) Explain the difference between probability sampling and Non-probability

sampling. 7

OR
(i) What is primary data ? Explain methods of collecting primary data. .
(i) What is the meaning of Non gampling Error ? Explain its types. 7

DN-101 S P.T.O.



he following freque” ' O%%ain Mean, Median, Mode, Q,, Q.
3. (i) From the follow

D, and Poy : i

xﬂlzjﬂs‘S?S

f | 26 | 17

entr = 1,1‘

. oeffici g _
(1) (A) Interprete correlation-co€ l,andr = 0,

. jation from ¢ I -
(B)  Obtain co-efficient of varl [__‘R‘_‘E following iInformation :

B | 10 o 25
5-10 15 115220 | 2. 25-30 }.30-35
Class 0-5 e s O
Frequeacy | 2 8 | 4 | 34 20 8 4
OR

(1)  Obtain Spearman’s Rank correlation Co-efficient from the foll

e ———

owing information :

X (23 (20 |25]26]|24 | 25 20 | 18

f 111 1315|139 10 lom | g

() x+6y=3] and2x+ 3y = 26 are two regression equations. Obtain by b, X, ¥

and correlation coefficient.

4. (i) From the following Information, tegt the Hypothesis that whether there is any
relationship betweer; the preference of colour and sex (Xﬁ‘ﬂs =2.99)
[ \
Sex
Colour e
Male | Femgje Ch

k| s

il B2 I T
e,

B 46 27 13
3| g T—

31
— 2l
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. Two salesmen A and B are ‘
1) Wor,: . . distriot. le surve
( cnnducwd by the Head Ofﬁﬂe ﬁrklng in certain district. From a samp y

Igni ‘R ' btained. State whether
there 18 any significant diffe, ¢ f|[owing results were obtain

_ ®Neg . the average sales of the two salesmen.
(ty05 = 2:12) - 7
Partlcuhr:\“ 4
Number of Sales\\“‘k
= 10 | 8
Average Sales (i;;)\m_
= 1124 | 1011
SD.(in%) T~
— (33| 38
OR
@) Explain: (1) Type one erroy and type two error. 4
SR HypomESiﬂ and Alternative Hypothesis. 3
(i) A company appoints three sajegp, S, Sy, S; and observed their sales in four
area such as D, D,, D, and D,. The figures of monthly sales (in lakhs of <) are
given below. Test the Hypothesic that “The sales of three salesmen differ
significantly” with the help of one yay analysis of variance. (F ) 9= 3.88) 7
Sales Men
Area
5, S S
D, 4 9 1
D, g 6 7
D, 4 5 9
D, 4 8 9
. Attempt any seven : 14
(1) Write any two differences betweeh the Quantitative Research and Qualitative
Research,
(2) What is Research Report writing ?
DN-101 1
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atics 0
(3) State any two characte®

een Py,
" “mary data anq Secondary data.

(4) Write any two difference® b
(5) State the difference betwee” a8 Y ang oy processing.
(6) What is tabulation ?

(7)  Write any two differences betWeeT! data ang observation,

(8) Write multiple regression model.

(9) State the formulae of third and forth “entral moments.

(10) The multiple regression analysis 1S Obtaineq with the help of computer software,
the value of RZ = (.62, interpret It

(11) Obtain harmonic mean from the following obseryations

1111

' 2 » 3: 4-
2 W)

(12) 2 (x,-7) =4949, (5,-%,) = 198, n, = 8, n, = 9 then obtain the value

of F .

(13) State the differénce between small sample and large sample.

(14) If n = §, differénce X-pul =5 g =165, test the hypothesis that “There is no

significant difference between the sample mean and population mean”.
(Z),05 = 1.96)]
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